- ]
S| [2E
g Ll 2 3 4 | S 6
BARSH: R ERR 8-Pole
- FRAS: M12 A-Code Panel Cut-out i . .
- W 12 2 ks T
© mRER(I0T): 154 Wirsor o | VP read 0| P NI
- Fiedk: 30V screw in A 3 1109269
- HEkkeE: 800V Contact 4 | 251 146
- g 3 arrangements 5 [288]-037
- BMEHE: <10mQ 6 |205][-2.05
- Hi%HE: >100M0 . < ; ?2; gi?
- HEGR: BEAM1241 s 7691759
- EEHR: FESH0.14mm?(AWG26) e T 45 T 078
- B 1P67 max. 11 [106]029
- FHR%E: =100 19.5 WHl /scale 1:1 W /scale 1:1 ot 12 0.29[-106
- BE#ERE: -40T ... +85C . 75 - 5 - d(;urcuut
- SEhhh REER = 2 200 iagram
_ . PA - _‘ PG | PGS |916.2|915.3 1| > #8&brown
- WA S | - M16x1.5|M16x1.5/917.0| $16.1 § )——ggbIth
- g & i >—+——HAfiwhite
2 . :]ﬁ/—— 4 | >—1—&fagreen
3 g 4 = = 5 | >—+—— Bapink
5 = 9 = 6 | >—T—Efyellow
|| L[: 7| >—1— Bfiblack
, B 8 | >—T—Keagrey
Technical specification: \ : 912 Htired
— Series: NFI)12 A-Code P18/ W1/ 10| >—1——%#%&purple
— Number of contacts: 12 . 11| >—1——%ks/Bagrey/pink
- Rated current (40T): 1.5A min.2.5 12| >———ufa/Hfired/blue
- Rated voltage: 30V max.4.5 n
— Rated impulse voltage: 800V
— Pollution degree: 3 H B HE 5
- Corel restacs: <100 . contts | _Cave o ot Coce | Wi
~ psultion resistance: > 100D FAKEL=02m, ARRELRERGREL 10", “-207 1630123024004 |M12-F12A-BKR-M16-W0.14| 21 g
— Connector locking system: screw M12*1 Cable length L=0.2m, For other lengths please 12 :
~ Terminal: single—strand wires 0.14mm’(AWG26) add "-1.0" "-2.0"after the type 1630123024003 [M12-F12A-BKR-PGI-W0.14 | 21 g
— Degree of protection: IP67 e
- Mating cycles: =100 RELE B me’i o -
- Temperature range: —40C ... +85TC Finish g o
— Material of housing: Zinc diecasting nickel plated EaRE CF19A_AKP_YY_
— Material of insert: PA 5 o H Part Code M12-F12A-BKR-XX-W0.14
- gat?riatl Olf tgonto/;:t: copper dlloy m Nukb her RS fiid/ Description Signature Enfﬁ Material - FERRS _
ortact ping: A #4 /Name| B#/Date #4/Name | B8/Date [ Wi | fk | EE | 3E Lot No.
[ TR Scale | REV. [Weight| Qty. | m#&#k a
Drqwn Y WANG |17.04.2020 o - - 1 Tviol - ~[Part Name
Fhf%“d 2000 [1704200 i Al Dimensions in- mm ﬁ EMERESHRAT
Broecs - - Aobroved ZQ XU 117.04.2020 '@' = Original Size DIV A 4 N\ XIAMEN WAIN ELECTRICAL CO.LTD

5

| b




